EP00334 /C

* - not depicted / nie ujeto

Material

No. Plan Article Quantity
1 X001158 G003317 1
2 X003688 1999982 1
3 X004804 1754800 1
4 XP00373 1866200 2
5 XP00871 2830300 2
6 XP01250 2992293 1
7 XP01931 2993584 1
8 Y011652 1655200 1
9 Y011660 1655500 1
10 Y012834 16774... 1
11 YP00541 1821654 1
12 YP00683 1818154 2
13 YP00692 1821500 2
14 YP0O0709 1821700 1
15 YP00734 1826854 1
16 YP05149 27023... 2
17 YP05296 2731654 1
18 YP06665 27329... 1
19 M10 DIN125 1001558 4
20 M8 DIN934 1001671 1
21 M6 DIN985 1001680 9
22 M8 DIN985 1001682 14
23 M5 DIN9021 1005138 6
24 M6x35 1006057 5
25 M6x16 1008459 8
26 M5 DIN 985 1001679 3
27 Regulation Screw 1900008 1
28 Belts 1901130 1
29 Gas Spring 275N 1991628 1
30 M8x30 1992717 1
31 M8x45 1994473 2
32 M8x10 1992177 1
33 M6 D20x6,5x1,6 1997328 8
34 M8x40 1008739 2
35 M8 DIN125 1003199 2
36 M8x20 1992349 4
37 M10 DIN985 1001683 1
38 M10x40 1992592 1
39 M5x16 1006112 3
40 X002029 1991841 1
41 Motor 3500N 2992973 1
42* Power supply 2992974 1
43* Remote control 2992975 1

| 44 Pin ®8x40 1992510 2

Seat Altitude 2 & Coraille 2 Electric

Plan No.

EP00334/C

Scale: 1:7 Drafted Verified Confirmed
Date 14/09/2018 | 17/11/2020 | 17/11/2020
Initials DR DB TK




